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Differentiate the following:

 1) 
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3) Find the gradient of the tangent to 
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 at x = 3
4) Find the equation of the tangent line to the curve at x = 2

Given 
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7) Given 
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 find an expression for 
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Integrate as before but
watch for negative areas
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Read over example 

Theta p401/402

Areas below the x axis
are negative
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Definite Integrals in parts
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Areas either side of the x axis
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Areas either side of the y axis





� EMBED Equation.3  ���





p187 Ex 16.06













































































� EMBED Equation.3  ���





� EMBED Equation.3  ���














_1182668656.unknown

_1182671085.unknown

_1182671213.unknown

_1182671791.unknown

_1186556396.unknown

_1182671256.unknown

_1182671166.unknown

_1182670857.unknown

_1182670996.unknown

_1182670935.unknown

_1182670823.unknown

_1182666460.unknown

_1182668597.unknown

_1182668630.unknown

_1182667653.unknown

_1182624069.unknown

_1182666348.unknown

_1182624030.unknown

_1182624058.unknown

_1182623183.unknown

